

8.4 Adding & Subtracting Rational Expressions

Obj: 1. Add/Subtract Rational exp.

$$\frac{1}{7} + \frac{3}{7} = \frac{4}{7}$$

$$\frac{3}{x^2} + \frac{5}{x^2} = \frac{8}{x^2}$$

$$\frac{2x}{x+3} + \frac{5}{x+3} = \frac{2x+5}{x+3}$$

$$\frac{x^2}{x-3} - \frac{9}{x-3} = \frac{x^2-9}{x-3} = \frac{(x+3)\cancel{(x-3)}}{\cancel{x-3}} = x+3$$

Jan 10-11:00 AM

$$\frac{3x-1}{2x-1} + \frac{5+2x}{2x-1}$$

$$\frac{\textcircled{3x}-1+\textcircled{5}+\textcircled{2x}}{2x-1} = \frac{5x+4}{2x-1}$$

$$\frac{2x}{x-5} - \frac{10}{x-5} = \frac{2x-10}{x-5} = \frac{2\cancel{(x-5)}}{\cancel{x-5}} = 2$$

Jan 10-11:27 AM

$$\frac{3\left(\frac{7}{300}\right) + \left(\frac{1}{90}\right)\frac{10}{10}}{\frac{3 \cdot 10 \cdot 10}{3 \cdot 3 \cdot 10}} \quad \text{LCD: } 3 \cdot 10 \cdot 10 \cdot 3$$

$$\frac{21}{900} + \frac{10}{900} = \frac{31}{900}$$

$$\frac{3\left(\frac{7}{3x^2}\right) + \left(\frac{1}{9x}\right)\frac{x}{x}}{\frac{3 \cdot x \cdot x}{3 \cdot 3 \cdot x}} \quad \text{LCD: } 3x \cdot x \cdot 3$$

$$\frac{21}{9x^2} + \frac{x}{9x^2} = \frac{21+x}{9x^2}$$

Jan 10-11:30 AM

$$\frac{\cancel{(x+2)}x}{\cancel{(x+2)}(x-2)} + \frac{-8}{x^2-4} \quad \text{LCD: } (x-2)(x+2)$$

$$\frac{x^2+2x}{(x+2)(x-2)} + \frac{-8}{(x+2)(x-2)}$$

$$\frac{x^2+2x}{(x+2)(x-2)} + \frac{-8}{(x+2)(x-2)}$$

$$\begin{aligned} \rightarrow \frac{x^2+2x-8}{(x+2)(x-2)} &= \frac{(x+4)\cancel{(x-2)}}{(x+2)\cancel{(x-2)}} \\ &= \frac{x+4}{x+2} \end{aligned}$$

Domain Restriction:
 $x+2 \neq 0 \rightarrow x \neq -2$

Jan 10-11:35 AM

$$\left(\frac{\cancel{(x-5)} x}{\cancel{(x-5)}(x+5)} \right) + \frac{-50}{x^2-25} \quad \text{LCD: } (x+5)(x-5)$$

$$\frac{x^2-5x-50}{(x+5)(x-5)} = \frac{\cancel{(x-10)}\cancel{(x+5)}}{\cancel{(x+5)}\cancel{(x-5)}} = \frac{x-10}{x-5}, \quad x \neq 5$$

$$\left(\frac{\cancel{(x-6)} x}{\cancel{(x-6)}(x+6)} \right) - \frac{72}{x^2-36} \quad \text{LCD: } (x+6)(x-6)$$

$$\frac{x^2-6x-72}{(x+6)(x-6)} = \frac{\cancel{(x-12)}\cancel{(x+6)}}{\cancel{(x+6)}\cancel{(x-6)}} = \frac{x-12}{x-6}, \quad x \neq 6$$

Jan 10-11:40 AM

$$\left(\frac{\cancel{(2x+5)} 6x}{\cancel{(2x+5)}(3x-1)} \right) - \left(\frac{4x}{\cancel{(2x+5)}(3x-1)} \right) \quad \text{LCD: } (3x-1)(2x+5)$$

$$\frac{12x^2+30x}{(2x+5)(3x-1)} - \frac{12x^2-4x}{(2x+5)(3x-1)}$$

$$\frac{\cancel{12x^2}+30x-\cancel{12x^2}+4x}{\cancel{(2x+5)}\cancel{(3x-1)}}$$

$$= \frac{34x}{6x^2+13x-5}$$

$$2x+5 \neq 0 \quad 3x-1 \neq 0$$

$$x \neq -\frac{5}{2} \quad x \neq \frac{1}{3}$$

Jan 10-11:50 AM